Upper & Lower Bounds PPQs

= A rectangle measures 38cm by 26cm.

Each measurement is correct to the nearest cm.

Calculate the least possible area of the rectangle. (2]
2.

Jake's car has travelled a total of 31 500 miles, correct to the nearest 100 miles.

For each hour that the car travelled, he astimates that it travelled 48 milas, correct to the nearest
mile.
Calculate the least number and greatest number of hours that Jake's car could have taken to

travel this distance.
Give your answers correct to the nearest hour. [5]

Least numberof hours taken .. ...

Greatest number of hourstaken



Numerical Answers (1) 956.25cm? (2) 676 & 693 (3) 9.5 km/h (4) 125 boxes
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